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n Which of the following carriers cause current in a
semiconductor?

(a) Holes
(b) Electrons

(c) Protons and Holes

\/d—)’Electmns and holes
@ ~—h
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n The SI unit of conductivity is

(a) Meter
(b) Ohm-meter
(c) Ohm 1 P = KA
1/(Ohm-meter) T T — |
> P .
P = 0ht.m
ey R 8 "
A P Zohm. m
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n Which capacitor is used as a high accuracy capacitor?
_g4) Ceramic capacitor

(b) Mica capacitor

(c) Variable capacitor
(d) Tantalum capacitor
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Potentiometeris a

(a) Capacitor

(b) Inductor P O T"’
c) Resistor \-
Ca
(d) Connector - -
| T2 W
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What is the nature of current in a diode?

n 1. Unipolar

. Bipolar _ . i , |>| VR
” Only 1
.0 (2)
\ J),iny 2 | L
ﬂ - (c) Both 1 and 2 e
(d) Neither 1 nor 2 e ..?.(.-
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What is the value of collector current (I.) for ;. = 150
and base current (Ig) = 30 uA?

(A)5A T(:'E}p-tO‘tﬁ)I—cu
) 4.5 mA
(c) 50 mA 'ICO—-»Qe\I-
@6A . E—iﬁ L, Sattobe
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n Which of the following statement is correct for JFET?
(a) 2-terminal device 0O

) 3-terminal device
(c) 4-terminal device q
(d) 5-terminal device . g I
ON/ o Vas
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n Enhancement node is present in
(a) tunnel diode

(b) PIN diode
() JFET

\/d) MOSFET
VAP
dff-jfi’cf—fm
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For a transistor in the CE configuration with the following

n parameters:

h¢e = 30, hye = 10 umho and r; = 5 k), calculate current

gain.
(a) 20.57 .
(b) 24.57 L Uysent ’qt —
—0) 25.87 q e I
(d) 28.57 / ) -
@—-L r ¥ 2 = o
S |+ heeR, THIOG
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In semiconductors, depends upon both the
n electric field and carrier concentration.

(a) diffusion current

(b) drift current

(c) drift velocity

(d) both diffusion and drift current
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n The simplified form of A C + AB C is .
v? "y ,'\.-20/"(;’ |
)AC
- + (3 ovlsen
(c)AC
tecim -

(d) A - AC + A%f J’lm M-y

ol Ay & ( H‘QJ 6Va~ﬁmu(°,‘)
X = ‘A (K- mop
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n Which of the following is not capable of storing binary
data?

(a) Switch \/ dj’ “i‘@p

(b) Latch / 3/'

(c) Register

(4) Counter (ommbracsion Sequontiof
> k—=h  —po ot

— [MemorA o P,
> AMYU@ mvxq 6%;11?)
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n A down counter is a counter that counts from to

in a downward direction.
(a) 0 to 2™
)2"-1to 0
(c)Oton

O 12 . (d]0mz" g | %Cﬁw\ﬁ@ (ountey
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Which of the following represents 2’s complement of 19?
(a) {010111}

(b) {100110} | (l 9 Bé’ ( )2

(c) {101010} |
(4) (101101} 4391 o |(c—0ll00

(“24#3333 2
(Sumy P 495 =217
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n The performance of a system is degraded because of

(a) losses
(b) phase
(c) amplitude |

@ o \J
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The value of modulation index (m) must be

(a) greater than 1
| (b) less than 1
\Jgd‘ﬁletween 0and 1
(d) 0 M-T =
F M A C
| <-—z.
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n Which of the following parameter remains same in the

amplitude modulation?
(a) Phase
(b) Frequency
(c) Amplitude
) Frequency and phase
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n For a narrow band FM, the bandwidth of the modulated
signal is :
(@) fm l g
(b) (Af + fm) Mogluladed Sig (

CL ,,
(d) 2(Af + fm) ' OWX?PP"‘)
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